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Science A/Biology — BLY1B (Evolution and Environment) - AQA GCSE Answer Keys March 2007 series

BLY1B (Evolution and Environment) Foundation Tier

Question | Key
A black skin 4
B small ears 2
One
C thick fur 3
D white fur 1
A limb is adapted for burrowing 3
B limb is adapted for flying 4
Two i -
C limb is adapted for gripping branches 1
D limb is adapted for running 2
A carbon dioxide 1
B greenhouse 2
Three )
C ice caps 3
D sea 4
A evolved 1
B genes 3
Four ]
C natural selection 2
D survived 4
A cell 1
] B chromosome 4
Five
C enzymes 2
D gene 3
A A cloned human could have an identical twin 30 years younger than 4
si B Many cloned animals have died early in their lives. 3
iX
C The first scientist to clone a human will be famous. 2
D The techniques needed to clone humans could be used to produce human 1
A B C D
Seven 3 1 4 2
Eight 4 4 2 1
Nine 2 3 3 2
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BLY1B (Evolution and Environment) Higher Tier

Question | Key

A cell 1

one B chromosome 4

C enzymes 2

D gene 3

A parents 4

Two B politicians 1

C scientists 2

D society 3
A B C D
Three 4 4 2 1
Four 2 3 3 2
Five 1 4 2 4
Six 3 4 4 3
Seven 1 2 4 4
Eight 1 1 1 3
Nine 2 3 4 3






